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i Given o S w2k
J(x)=Vx—=1andg(x) =x*+9, g =x2+93 f(x)=Vx—-1
find [f o g](x). f e gl(x) 24
O Jx2-8
Jx2+8
O x-8 €
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Identity the parent function [ (x) of Jd f(x) ilalt ] a5
hix)=[x]-5. J4i(x) = [x] -

O [(x)=x .
I(x)=x-35

f

! O [(x) =|x]

3 O [f(x)=x+35 _ '
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' Write a polynomial Tunction of least O TR PRCP - PRI B L DR '
degree, with real coeHicients, and [ 3V5 3 — V5 ey ida clllaa

that has -JE_JE_ and [ among ils

zeros, in standard form.

O [(x)=x'"—-4* +5
O f(x)=2—Ix>—5x+5I
[(x)=xt—4x*-5

M Iy =3 I¥: — Sy -5l
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| 2 Hh(x)=x* + 8x—4, ch(x) =x% + 8x—4 s\
find h (-2). h(—2) 2
O -24 a
O -16 b
| -—-B it
0N —12 "
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Determine all the zeros of 0 Ual guay aia
the function J(x) =x' -4 - 3212

J(x) = x1 =43 - 3222,

L o ¥

® x=-4x=0x=8 :
Ox=0x=4x=8 R
O x=—8.xr= -4,x=0 )
O x=-8x=0x=4 "
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